Sr Questions Answers Choice

A Sap
1 g A 2 S SR (S pee (MaSdl () Dl rhae 7153 G el e ) s gl 18 0 S 5 B. S 34
Ll C. Sl

D. £

A e sl & juan

?M\?&_Jcﬁ)a&)m;
ool agle o sl & jias
eM‘&Jﬁnﬁlﬁ&)&a

2 LS oL 1S (5m (S e A

S Mg e
Sy S ol
S (S o yee
S e

3 oAl S dsas Scin ) S 550 S Gl el (e paonte s

4 U e S e,

5 S LS S e S e AT S a il o) s

6 0 Sl (Sl o) g

7 2 ol S s 1 TS o  BDla oS A LS (i (e S I (S O S,

8 = s rseinien (S e A

9 up e s i e

10 g SO e padl o s

DOW> UO®WP DOWr DOEP DOUP DOmP DOWF DOmF 00>
2



